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3.4.2 IZH)AR
f5: A certain train travels 150 miles in h hours at the average
rate of m miles per hour.

Quantity A: The number of hours required for the train to
travel 320 miles at the average rate of 2m miles per hour.

Quantity B: h
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3.4.3 T{FlAJRR

5. Machine A, working alone at its constant rate, produces x
pounds of peanut in 12 minutes. Machine B, working alone at
its constant rate, produces x pounds of peanut in 18 minutes.
How many minutes will it take machine A and B, working
simultaneously at their respective constant rates, to produce x
pounds of peanut?
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3.4.4 BEY)A)ER
5. How many quarts of pure alcohol must you add to 15

quarts of solution that is 40% alcohol to strengthen it to a
solution that is 60% alcohol?
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3.4.5 F 2 a)R

Compound Interest(EFl): A=P(1+r), =L: ALARFIFD
(principal +interest), PAAE, r/3FlZ(rate or percent of
interest), n/g9HPZY.
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1. From 2011 to 2012, Jack’ s annual salary increased by 10
percent and Arnie’ s annual salary decreased by 5 percent. If
their annual salaries were equal in 2012, then Arnie’ s annual
salary in 2011 was what percent greater than Jack’ s annual

salary in 20117
Give your answer to the nearest 0.1 percent.
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2. The population of Country X for 1980 was p. The population
of Country X increased by 3.8 percent in each of the next two
years.

Quantity A: The populaiton of Country X for 1982.

Quantity B: 1.076p
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3. The function f is defined by f(%)=3x2—x+5 for all x.

Quantity A: f(4)

Quantity B: 75
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4. The function f has the property that f(x)=f(x+1) for all
numbers x. If f(4)=17, what is the value of f(8)?
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5. At a certain elementary school, 10 percent of the fifth-grade
students are members of the school band. If 12 percent of the
fiftth-grade boys and 8 percent of the fifth-grade girls are
members of the band, what percent of the fifth-grade students
at the school are boys?
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6. According to a tax rate formula for a certain year, the
amount of tax owed by an individual whose annual income
was between $31,850 and $77,100 was equal to a base tax of
$4,386 plus 24 percent of the annual income that exceeded
$31,850. According to this formula, what was the amount of

tax owed by an individual whose annual income that year was
$42,000?
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7. For each of the last 5 years, the population of a colony of
beetles increased by 8 percent of the preceding year’ s
population. If P represents the current population of the
colony, which of the following best represents the population
5 years ago, in terms of P?
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8. To obtain an FHA mortgage for $50,000 or more, the home
buyer must have a down payment equal to 4 percent of the
first $25,000 of the mortgage amount and 5 percent of the
portion in excess of $25,000. At settlement the buyers pays a
mortgage-insurance premium equal to 3 percent of the
mortgage amount. What is the maximum FHA mortgage, if
any, a buyer can obtain if the buyer has only $6,000 available
for the down payment and insurance premium?
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9. The 20 people at a party are divided into n mutually
exclusive groups in such a way that the number of people in
any group does not exceed the number in any other group by
more than 1.

Quantity A: The value of n if at least one of the groups consists
of 3 people

Quantity B: 6
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10. Last year Leo bought two paintings. This year he sold them
for $2,000 each. On one, he made a 25% profit, and on the
other he had a 25% loss. What was his net loss or profit?
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11. A manufacturing company has plants in three locations:
Indonesia, Mexico, and Pakistan. The company has 6,000
employees, and each of the employee works at only one of the
plants. If 3/8 of the employee work at the plant in Indonesia
and if twice as many employees work at the plant in Mexico as
work at the plant in Pakistan, how many employees work at
the plant in Mexico?
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12. The fabric needed to make 3 curtains sells for $8.00 per
yard and can be purchased only by the full yard. If the length
of fabric required for each curtain is 1.6 yards and all of the
fabric is purchased as a single length, what is the total cost of
the fabric that needs to be purchased for the 3 curtains?
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13. The total amount that Mary paid for a book was equal to
the price of the book plus a sales tax that was 4 percent of the
price of the book. Mary paid for the book with a $10 bill and
received the correct change, which was less than $3.00. Which
of the following statements must be true?

Indicate all such statements.

www.koolearn.com



14. Machine R, working alone at a constant rate, produces x
units of a product in 30 minutes, and machine S, working
alone at a constant rate, produces x units of the product in 48
minutes, where x is a positive integer.

Quantity A: The number of units of the product that machine R,
working alone at its constant rate, produces in 3 hours

Quantity B: The number of units of the product that machine S,
working alone at its constant rate, produces in 4 hours
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15. If an investment of P dollars is made today and the value of
the investment doubles every 7 year, what will be the value of
the investment, in dollars, 28 years from today?
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16. A certain money market account that had a balance of
$48,000 during all of last month earned $360 in interest for
the month. At what simple annual interest rate did the
account earn interest last month?
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